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O [=[e* cosx-dx
Let : [u=e* - du = e*dx]
: [dv = cosx - dx » v = sinx]
I=u-v—[v-du
I =e*-sinx — [ sinx-e*-dx

[ =e*-sinx — [ e*-sinx - dx

J = [e*-sinx-dx

Let : [u = e* - du = e*dx]
: [dv = sinx - dx - U = —cosx]

J=u-v—[v-du

J =—e*-cosx + [ cosx-e*-dx
J =—e*-cosx + [e*-sinx-du
| —
I
] =—e*-cosx+1|-- (2)
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tazid (1) 235l @ (2) Wdall Lagas
I =e*-sinx — (—e*-cosx +1)
I =e*-sinx+e*-cosx — 1

21 = e*(sinx + cosx)

I = %ex(sinx + cosx) + C

: 8l02)) 3VoLSD) (e ALio]
® I = [ sin(lnx)dx
Let : t =Ilnx » x = et > dx = e'dt
[ = [sint-et-dt
® I = [ sinx - sinhx - dx

® I=[3%-e* dx
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x-arctanx-dx -arctanx-dx
1+x

dx
u = arctanx - du =
1+x2
x-dx
= —>v=\/1+x2

Vi+x?

I=u-v—[v-du

I =vV1+ x?%-arctanx —

T+ &
1+x2

_ 7. _ dx
I =V1+x?-arctanx — [ —

I =1+ x?-arctanx — sinh ™ 'x + C

® [=[sinh lx-dx

I | _
Let:{u—smh xadu—m
dv=dx »v=x

I =uv— [vdu

x-dx

=x-sinh 1y — [ ===
I =x-sinh™x fm

2x-dx

2V1+x2

[=x-sinh’x— |

[ =x-sinh ™ lx —V1+x2+C
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Inx-dx
0 /- [

dx
u=Inx »du=—

Let : dx *
dvzﬁ—njzzﬁ
I =uv— [vdu

I=2\/§-lnx—12\/§-i—x

dx
[ =2Vx lnx —2 N

[ =2Vx Inx —4Jx+C
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® I = [x-sinx-cosx-dx
I=[x-sin2x-dx
2

1 .
I==[ x -sin2x-dx
2 (] D ——
Let:u Let:dv

® I=[e* cos7x-cos5x-dx
I =[e*-cos7x - cos5x - dx
%[c0512x+c052x]

I= %f[ex - cos12x + e* - cos2x] - dx

I=2fe* cos12x-dx+=[e*cos2x-dx
2 2
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VaZz — b2x? bx = a - sint Va?z —b%2x% = a - cost

Vb2x% — a2 bx = a - cosht Vb2x% — a?= a - sinht

Vb2x2 + a? bx = a - sinht Vb2x2 + a2 = a - cosht
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cosh?x — sinh?x =1

sinh2x = 2 - sinhx - coshx

cosh2x = cosh?x + sinh®x

cosh?x =

sinh?x =

sinh™x = In(x + Vx%2 + 1) : x € ]—o0, +00[

cosh™x = In(x +Vx2 — 1) : € [+1, +oo[

tanh™lx = In /i—i : x €]-1,+1]
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